5 3

[ERAKEBRERR]

TR KRS - REPKS - LIRS
I #EERERR

I HEEHHREKR

I EXHEREHABRERER
IV BEBREFHR

V EWBRERHR

ABIERE Y 74§
I REEFHRERR

I HEHHEREHERE®R







B 3

EKERERR

<FiaE Kz >







O AEROSHORE] R %
020 ¢0 € ¢0 G ¢0 @ ¢0
L0 20 10 10 /3w | £mBHS
20 70 20 70 *
(69¢) €0 (18) €0 (82) €0 (18 ¥°0 (18) €0 (08) €0 (18) €0 08) ¥°0 (18 10 (1£) 20 08 20 (18) 20 08 20 (RIE) G
=¥ Z0 z0 €0 z0 z0 z0 ¥ 0 @0 ¥ 0 10 70 20 0 /30 | smmnmm
L0 70 70 9°0 70 70 50 L0 70 70 £0 €0 £0 s
(59¢) 870 (18) 50 (82) #¥50 [(18) 670 (1£) 6°0 08 11 (1£) 6°0 0e) L1 (1£) 6°0 1) L0 (0g) 8°0 (e) L0 (0£) 60 (RED) Gk
WG NG 0 WG NG 0 9°0 9°0 WG ¥G 0 WG NG 0 NG 0 NG 0 G0 b1 | E| =2
z¢ L0 L0 6°0 £l 7°¢ 61 0°¢ Gl £l Gl G| 8l s
(69¢) ¢°0 (18) 20 82 20 (18) 20 (18) 10 08 20 (18) 10 (08) 20 (1e) 10 (1e) 10 08 20 (18) 20 08 €0 (RIE) G
N0 10 L0 W0 @0 [T @0 |0 @¥| 0 |0 w] 0 L0 20 W H H 4
6 £0 £0 70 £0 67 20 L0 £0 20 60 €0 80 s
(G9¢) ¥ 781 (18) 876 82 9L (18) 6L (o) 1711 02) 0791 (18) vt (0€) 692 (18) L70g (1€) 082 (08) 072 (1%) 8702 (08) ¥ 6l (RED Gk
z9 G'8 89 Z9 €6 G¢l 76l 8767 L'LT 81e €7 6L g1l b/ 0, = 4
9°1¢ 9711 g8 9°6 LEl 061 7792 L 82 9°1¢ 7°0¢ 967 4 98l s
(69¢) ¢ Gl (18 ¥79 (82) 0°¢ (18) 6°1 (18) 27§ (08) 66 (18) 0781 (08) 0'%¢ (18) ¥78¢ (1€) L'92 (08) 9°¢¢ (18) 202 08) 87l (RIE) G
92- z¢ 20 92 G0- € 66 G 61 €12 112 7Ll vl L6 = o R B -3
9]¢ G| 86 L/ [ 0L Lyl 9 47 [ 82 9°1¢ 608 997 £ 97 007 e
= p
(B/IE£8cYdi) NCEH S
(G9¢) 0g°L (1) 88°L (82) 8¢'L (18) 12°L (18) 0L 08) 12°L (e 'L (0e) 1L (18) v 'L (1e) ev'L 08) €8°L (18) 6L 08) 01°L (RIE) Bids
0L°9 2L 01'L 0L 969 7879 12°L 6879 969 12°L §LL 20°L 0L°9 pr 2 B Hd
ILL 991 ILL vy L L1 1SL 85 L 65 L 19°L £9°L S L &L 17°L B
(69€) L0 (1€) 670 (82) 90 (1€) 9°0 (1) 9°0 (0€) 9°0 (1e) L0 (02) 60 (1€) 870 (18) L0 (0€) L0 (1e) L0 0€) 970 (RED Gidk
€0 €0 €0 v 70 G0 50 G0 50 G0 50 G0 70 = /30 | emEmnmm
vl 90 60 [ 60 80 01 vl £l 0l 0l 60 01 =k
(G9¢) 1781 (1£) 976 80 6L e L'l (18) 8701 08) LSl (18) 072 (08) 29¢ (18) 0702 (18) 9°1¢ (08) 8°¢C (1) 9702 08) 1761 ORE) Gz
€9 €8 89 €9 16 G¢l Z°6l 8°7¢ €62 62 A4 6L Z1 = 0, B b4
0°1¢ g1l €6 56 £el 681 L'ST 617 0°1¢ S 6¢ £ 6z 86 98l S
(69€) ¢ Gl (1e) 79 (82) 0°¢ (1) 6°1 (1) 27§ (0€) 66 (1€) 0781 (08) 012 (18) 7782 (18) L°9¢ (08) 9°¢ (18) 202 (0€) 871 (RED) Gidk
9°Z- z¢ 20 92 G0- £°g 66 G 61 €17 112 7Ll A L6 /24 o} 24 =
9°1¢ G| 86 [ [ 0L Lyl 24 [ 82 9°1¢ 602 997 €92 002 =k
Py
(B/E82¥d k) HEESE
(§9¢) L1 (18) 8°¢ (80) 9°¢ (18 ¢'1 (1£) 60 02) 8°0 (18) 61 (0e) 9°¢ (1£) 870 (e) 11 (08) 0°¢ (1e) L0 (%) 80 (RED Gk (BB
20 67 01 L0 €0 €0 80 90 70 G0 L0 €0 20 pr 2 | | B
1z 79 9°L £ 61 vl L'y 1z GG 07 L6 [ 0§ sz
(G9¢) v 781 (18) L6 82 €L (18) §'L (18) 9°¢1 08) L9l (18) 272 (08) €92 (1€) 660 (1) 912 08) 1ve (1) 602 (08) 761 (RE) Gidk
LS v'8 G9 LS €6 l 7761 76t 667 L€T 87 11 811 /24 0, = b4
8 0¢ L) €8 06 8Ll | 61 192 087 8 0¢ S 67 L G2 6 €2 [ s
(G9¢) ¢ 76l (18 v'9 82 0°¢ (18) 6°1 (18) 2§ (02) 66 (18) 0781 (08) 0%¢ (18) 8¢ (1) L79¢ (08) 9°¢C (18) 202 08) 87l (RE) G
9Z- z°¢ 20 92 G 0- £ 66 G 61 €12 112 7Ll vl L6 pr B x
9°|¢ G| 86 L/ [0l Lyl 9 4Z [ 82 9°1¢ 6 °0¢ 997 €92 002 =L
M \ [
(BlE8cXdm) N SE

EHEHE8 ]

18



(G98) G0 (I%) v 0 (80) ¥ 0 (1%) 0 (%) G0 (08) v 0 (%) G0 %) ¥ 0 (%) v 0 (1$) G 0 (0%) G 0 (1) G0 (08) G0 (RE) G
€0 70 70 70 70 V0 70 70 €0 70 70 70 70 wE | /80 | smeumm
50 50 50 50 50 50 50 70 70 50 50 50 50 =]

(69¢) BG70 |[(1€) WG 0 [(82) XG0 |(16) B4¥G 0 [(18) XG0 |(08) XG0 [(18) B4¥G 0 |(08) G0 [(18) B¥G0 [(16) G0 |(08) XG0 [(16) B¥G0 [(08) BE¥EG 0 | #E) Gk
a6 0 a¥G 0 m¥G 0 a¥G 0 G 0 G 0 G0 WG 0 G0 WG 0 @G0 BIN¥G 0 W0 | BE E| 3 3
BING 0 BN 0 BING 0 BN 0 NG 0 BING 0 NG 0 BING 0 BING 0 BING 0 BING 0 BUING 0 BING 0 =21

(G98) @[ 0 [[(18) BT 0 [(82) BEEL 0 |(1S) ZE¥L 0 |(1S) EE¥L 0 [(05) ZE¥L 0 |(1S) S| 0 |(05) EE¥L 0 |(JS) E¥L 0 |(JS) B 0 |(05) B[ 0 |(JS) B 0 |(05) ¥ 0 | ®E) &t
@] 0 W] 0 |0 W] 0 @] 0 w¥| 0 @] 0 |0 W] 0 |0 W] 0 |0 w0 | BE k| | &
a | o0 @] 0 a0 @] 0 a0 a0 a0 e a0 e @] o0 B 0 Wy 0| ==

og =
(BlE8cx i) (ESHEEN0 & L £ BMilYy,

(G98) o®E |JUD) TTEE |80 VURE U0 1omE |10 (HRE |00 1oEE (L) (ZRE |00 1oes UL URE U0 uEE [0 (URE |10 ZEE |00 1omE | (e Vi

(G98) " &&E |[(1) "oEE |80 VHEE |5 Vu&EE | VuEE |05 VL&EE |5 VL&EE |05 Vu#E |5 V\u&2E |5 V\L&EE |00 V\o&E () 1&&E |00 1\o&E | (%E) X =

(G98) 90 (1) 970 82) 970 (1%) 970 18) 970 08) 9°0 (18) 970 0) 9°0 (%) 970 (18) 9°0 08) 970 1) 970 08) 9°0 (RE) ik
50 50 50 50 50 50 50 50 60 50 60 50 50 wE | /80 | smeanm
L0 9°0 9°0 9°0 L0 9°0 9°0 9°0 9°0 9°0 9°0 9°0 9°0 ]

(998) =G 0 [[(1e) B¥ES 0 [(82) B¥G 0 [(1€) B¥S 0 [(16) B¥G 0 [(05) B¥S 0 [(16) E¥G 0 |(0F) E¥G 0 |(16) E¥G 0 |(1E) E¥G 0 |(0F) EXG 0 |(16) E¥G 0 |(0F) %S 0 | %) &
B¥G 0 B¥G60 B¥G 0 B¥G60 B¥G0 B¥G0 B¥G 0 NGO B¥G0 BING 0 B¥G60 BIN¥G 0 B¥G 0 HE H H B
BI¥G0 B¥G 0 BI¥G0 B¥G 0 B¥G0 BI¥G 0 BI¥G0 B¥60 B¥G0 2¥60 BI¥G0 B¥G60 BI¥G0 =2

(69¢) B0 |[(1e) W10 [(82) L0 |(16) B0 [(1€) EX1 0 |(08) X100 [(18) ¥ 0 |(02) X0 [(16) B¥L0 [(18) B¥10 [(08) BX10 [(18) B¥L0 [(08) BE¥L 0 | %E) Gk
W0 W] 0 W0 W] 0 W0 LS ) W0 W0 W0 W0 W0 W0 W¥0| BE | E7) 4
0] B¥10 B¥L0 B¥10 B¥L0 B¥10 B¥1L0 10 B¥1L0 BI¥10 B¥0 BI¥]L0 B¥0 2

(998) 1 8l (1£) 9°6 (82) 9°L (18) 6 L (g) ¢ 1l (08) 191 (e) 12 0g) ¥ 92 (1e) 1 0¢ ae) v L¢ (08) L €T (1) §0¢ (0g) 161 (RE) ik
z9 b8 89 z9 9°6 Lyl 68l 0'%2 662 0'%2 XA 9711 SLL bk 0, m oY
6 0¢ 1Ll 58 66 Lgl L6l 652 LL2 6 0¢ £ 6C 7°5¢C 8 €T 16l 2w

(998) ¢ §I (1e) v 9 ®2) 0°¢ (18) 61 (e) ¢ (08) 66 (1%) 08l 08) 072 (1%) v 82 (8) L 92 (08) 9°¢€C (1) ¢ 0¢ (08) 871 (RE) ik
9°2- z¢ z0 92— 50~ € 66 G 6l €1z ¥4 7L vl L6 W 0, Bx
9°l¢ G|l 86 L[ [0l Lyl 9 47 [ 82 9°1¢ 6 0¢ 997 £ 97 002 B3

(BlE8cK i) NEHGE

(698) €0 (18) €0 (82) €0 (1e) €0 (1e) €0 08) ¢0 (18) €0 0g) €0 (18) €0 (1€) ¢ 0 08) ¢ 0 (18) ¢ 0 08) ¢0 (%E) G
L0 z0 z0 €0 z0 z0 z0 z0 10 10 10 L0 10 wE | /80 | smeanm
9°0 50 70 9°0 €0 £0 70 v0 70 £0 £0 €0 £0 ]

(G98) G 0 [[(1S) BYES 0 [(8¢) BEG 0 |(1S) BEG 0 [(1S) BXG 0 [(05) ZX¥G 0 |(1€) B¥G 0 |(05) ZL¥G 0 |(JE) BL¥G 0 |(JS) E¥G 0 |(0F) E¥G 0 |(JE) B¥G 0 |(05) BI¥S 0 | ®E) &t
B¥G0 B¥G60 BI¥G0 B¥G60 B¥G0 B¥60 B¥G0 BI¥G0 B¥G0 NG 0 B¥G 0 BIN¥G 0 B¥G 0 HE = k| =2
91 G 0 %G 0 G 0 50 9°0 50 91 50 50 9°0 B¥G 0 9°0 =]

(G98) 1000 |[(re) 0000 [(82) 000 [(1€) 2000 [(1€) 0000 [(0S) 0000 |[(}€) 0000 |(OS) 9000 |(1€) G000 |(1E) L00O |(OF) 0000 |(1E) 0000 |(OF) 0000 [ ®m) Gk (EHEEY)
0000 000 0 0000 000 0 0000 000 0 0000 000 0 0000 000 0 0000 0000 0000 = E| E| L4
[¥0°0 100 0 000 0100 900 0 000 0 2000 700 1#0 0 800 0 000 0 000 0 000 0 g

(G98) @[ 0 [[(1S) SXEL 0 [(82) KL 0 |(1S) SE[ 0 [(1S) K[ 0 [(05) B[ 0 |(1E) B[ 0 |(05) E¥L 0 |(JE) EL¥L 0 |(JS) E¥L 0 |(05) E¥L 0 |(JS) E¥L 0 |(05) Z¥| 0 | ®wE) &t
B¥10 B¥0 B¥10 B¥0 B¥0 w¥0 B¥10 Bi¥10 B¥10 B0 B0 B¥)0 B0 HE k| k| L
L0 | 0 w0 a0 |0 | 0 |0 10 w0 w0 w0 L0 W0 | o

(998) 0 8l (1%) G°6 82) § L (1e) L L (18) 801 (08) LSt (18) 6 12 08) ¢ 92 (%) 6 6 (e) v Lo (08) L €T (18) §0¢ (08) 161 (RE) ik
) (] L9 19 68 vel L6l 7€t 792 6°€C A4 §°Ll §°1L W 0, oY
6 °0¢ vl €8 9°6 7€l 88l 857 L'L2 6 0¢ ¥ 62 T4 €7 L8l g

(998) ¢ &I (%) v 9 (82) 0°¢ (1%) 6 | (e) ¢ § (08) 66 (%) 0 8l 08) 0 72 (1%) v 8¢ (¢) L 92 (08) 9 €¢ (1) ¢ 0¢ (08) 8 71 (RE) i
9°2- z¢ z0 9°2- 50~ € 66 G 6l €1z 4 7Ll 7oLl L6 bk 2, B X
9-°l¢ G|| 86 Wi [0l Lyl 74 82 9°1¢ 6 0¢ 99z g9z 002 2w

19




6°¢ 8l 76 [ 76 9°¢ €7 LT €8 El3 8l 6°¢ [ € [ ] E] = |
09 5 gl 5 LG Sy £g 0§ gl €9 0§ v v G9 LG | E| 2
— — — EuE |wR wol|EE-wEE wE EE-EEE|vE -l |vue - wE - v oF|uR - wuE[ER - woF[ER - woF|uw - vuE = =
S L 0z 'L 8y L 68 L L 8y 'L £eL ve'L 12°L €L 8y L 1L ey L €L 7L El] H d
[ 1l Ll 1l vl A A gl L'l 9L vl gl vl 9L A /30 (0 O 1 ) W % &
936000 0 o 936000 0 o S¥6000 0 === === S¥6000 0 === === 236000 0 - — 36000 0 == R | B A — / T c
B43¥600 0 — B43¥600 0 — 243600 0 — — 243600 0 — — 23500 0 — — 3600 0 -— /3w ¥ F 2 E ¥ < F )
100000 0 |=3100000 0| 500000 0 — — — 53100000 0 100000 0 £00000 0 500000 0 £00000 0 1000000 |23 100000 ‘0 |2 100000 0 |2¥100000°0] 1/BW | AW —FEAUYA UL KX —2
#00000°0 | 100000 0 120000 0 — — — 100000 0 100000 0 100000 0 120000 0 900000 0 100000 0 100000 0 100000 0 200000 '0 /8 | < = Y ¥ T &
B0 0 e 270 0 — 2370 0 S S 2370 0 S S 23700 S - 220 0 = /3w ¥ F 2 B ¥ < £ ) E
28 5L 58 — 8 — — 5L — — €8 — — 58 — /3w | i & ¥ ¥ ¥
8¢ I3 6¢ -— 6¢ -— -— I3 -— - [ - - 6¢ i 1/3u (FHE) SV64% 42 760411
1l 1L ! 1l 2l T 66 T 'L 0! T 66 T 7l 7l I R P A . .
€00 8100 0 0 o 8100 -— -— 820 0 140 0 7v0 0 1€0 0 €00 0 0 L£0 0 = /3w %S U0 2NH LA 2
€6 06 96 — €6 — — 26 — — 06 — — 96 — /3w HBSAO2IXINHETL A £
B0 — B0 — B0 S S B0 S S B0 S S B¥l0 - 1/3u % 8 U 0 2 N W B
710 80 0 920 -— 920 -— -— 80 0 -— -— 80°0 -— -— 710 -— /3w %W 8 U4 0 = N ¥ B
¥0°0 200 [0 50°0 80°0 ¥0°0 €070 €070 710 €070 200 #0°0 #0°0 €0°0 200 V3w | @8I O2ZNETL=S AL
¥ 0 — ¥ 0 — W¥| 0 — — W¥| 0 — — x| 0 — -— x| 0 — 1w | @8 ) 0 XN W EE
w3800 0 o w3800 0 o w3800 0 === === w3800 0 === === 213800 0 === o 2433800 0 o V3w |4 A L A L T A
B¥100 0 — 1000 || ®¥l000 | Z¥i000 | ®¥i000 | X000 | ®B¥i000 | ®¥i000 | B¥000 | 000 | ®¥i000 | B¥i000 | %1000 | B¥1000 V3w |7 A ¢ X o £
2100 0 o w1000 || W¥i000 | #¥l000 | @000 | @000 | X000 | ®¥000 | 2¥000 | @000 | 000 | ®¥1000 | ®¥I1000 | W¥1000 Vu |2 & ¥ oo 44 F oo
B¥E00 0 — B¥E00 0 — B¥600 0 — — S3¥600 0 — — 2600 0 — -— 200 0 — 1w |®W ¥ o o & N o
W¥p00 0 o Wp00 0 || W¥r000 | Z¥r00°0 | 2kp00°0 | p000 | ®r000 | Wr000 | Z¥r00'0 | @¥p00°0 | @p000 | ®W¥p000 | W¥r000 | W¥00°0 V3w | <A & ¥ O v N
B¥100 0 — B¥100 0 — B¥100 0 — — B¥100 0 — — B¥100 0 — — 2100 0 — /3w | W ¥ =
2100 0 o w000 || W¥i000 | #¥l000 | @000 | @000 | X000 | ®¥1000 | 2¥000 | @000 | k000 | ®¥000 | W¥I1000 | ¥1000 Vu |2 & ¥ oo 4 F0c G
B4¥E00 0 — B4¥E00 0 — B¥E00 0 — — B¥E00 0 — — 2600 0 — -— 200 0 -— /8w |3 o o 4 &
2100 0 o w1000 || W¥i000 | #¥1000 | @000 | @000 | X000 | ®¥1000 | ¥000 | @000 | @i000 | ®¥000 | X000 | ¥1000 V3w |7 At s o o 4
B¥700 0 — B¥700 0 — B¥700 0 — — B¥700 0 — — B¥700 0 — — 2700 0 — A | W £l o o 4
W90 0 o W90 0 o w90 0 = = w90 0 = = w90 0 = = 290 0 — /8 | ¥ 5
B¥100 0 — W¥100 0 — B¥100 0 — — B¥100 0 — — 2100 0 — — 2100 0 — /8 | < a ~ v
2100 0 === 2100 0 = w100 0 == == w100 0 == = w100 0 = = w100 0 = V3w |7 14 £ T oo 4§
W¥100 0 — B¥100 0 — B¥100 0 — — B¥100 0 — — B¥100 0 — — 2100 0 -— Vw | A A £ T oo 4 £ L
w3700 0 = w3700 0 = w700 0 == == w700 0 === == 2200 0 == == 23200 0 == /3w |7 & ¥ O O 4 &
. . . . . . . . . . AN£L£ITO004G-C'1-¥ e
wp00 0 — w¥p00 0 — w¥p00 0 e e S¥Y00 0 -— -— S¥Y00 0 -— -— Y00 0 -— /3w NEANL£TONGG-21-Y 4
w3600 0 o w3600 0 o w3600 0 = = w600 0 === === 2600 0 === === 23600 0 === AT R . A A
%7000 0 — 2¥7000 0 — S¥7000 0 — — S¥7000 0 — — 22000 0 -— — 2372000 0 -— VT EES x BT} A B
210 — 210 — 210 — — 210 — — Y10 — — Y10 — R EE R E X"
010 600 [ — 600 — — 210 — — 010 — — 010 — v |8 A0 XN E L
£0 20 v0 === 20 == == 70 == == £0 == == €0 — VA | EE NSO ES R
W¥100°0 — W¥100°0 — W¥100°0 — — W¥100°0 — — W¥100°0 — — W¥100°0 — VI | AALAWENY A KGR LA
wWp00 0 | W00 0 000 o w¥p00 0 = = 000 = = w900 0 = = 200 0 — R | O EOFE O OW OB &
W¥600 0 — B¥600 0 — 83600 0 — — 83600 0 — — B¥600 0 -— -— %600 0 — V| @4 8 AU T o 4 W N
B¥100°0 i B¥100°0 i B¥100°0 — — B¥100°0 — — B£3100°0 — — B100°0 — v |G 8 A 0 > )W E 3T
w100 0 — w100 0 — B¥100 0 — — B¥100 0 — — 2100 0 — — 2100 0 — 1w | @ 8 U 0 X N W B
21000 — %1000 — #¥100°0 — — %1000 — — 21000 — — #1000 — I ER R R
@1360000 0 - #1360000 0 - @1360000 0 — — #1360000 0 — — #1360000 0 -— -— @360000 0 — v |8 AW 02> )W N
26000 0 — 6000 0 — 6000 0 = = 6000 0 = == 26000 0 == == 26000 0 == /8 | G#8IO2INHT L= ¢
L | 9¢ 6 5 gl z 5 9¢ | [ [ | | ¢ u00L/NdN | B8 Z] X
081 [ 0001 €L 6L 0Ll €5 €9 000! 02 8L 06! ol 69 vz I i3 il =

e

BEE

BEE

(B&82%h)

B2l

HLL

HOl

EHEHEE=EE

(BEIHE) NS
II

20



El{EE S

BEE =HEF

B¥10 -— B0 B0 B0 B0 W0 W0 W0 W0 W0 W0 W0 B0 B0 El | B
B¥G0 -— B¥G0 B¥G0 B¥G0 B%G0 B¥G0 B¥G0 B¥G0 B%G0 [ 200] B%60 WG 0 B%60 B%60 ) | 3
-— -— -— NLRE NLRE N RE NoRE NLRE N RE NLRE NLRE NLRE NLRE NLRE NLRE x =
821 60°L 05°L VoL ve'L L gL 12t 60°L 12t 05t g8l wL €L geL L H d
6°0 80 Ll 80 80 80 6°0 6°0 0L Ll Ll 6°0 Ll Ll 80 /3u (92 0 L ) @ ¥ &
%600 0 — %600 0 — — — — G000 | @000 | ®¥s000 | wW¥s000 | wes000 | @s000 — — v | GENOINE AL A~
21000 — @100 0 — @100 0 — — B£100 0 — — B£100 0 — — W£100°0 -— VA | ¥ £
- — - LuRmE | UWY | sumy | eumy | puwy | susmy | sumy | suswy | pusmy | susmy | sumy | Lumy |woor/Na| B & ¥

0 — 0 0 0 0 0 0 0 0 0 0 0 0 0 W/ | B i3 il —

(F&82¥h)

20 W o 50 €0 50 €0 20 20 20 W W L0 ) z0 €0 -1 E+| =
8°0 w¥G 0 €l w¥G 0 9°0 8°0 01 €l Ll 50 9°0 @G0 L0 €l Al -1 | 3
— - NugE | 1urE | esE | neE | e | neE | ess | nes | eee | wsE | uss | nes x )
82 L 60 L 9L WL gL 6L €2 L 92 L 60 L 1271 9L 161 o7 L V2L et L H d
01 80 Al 80 80 6°0 6°0 01 01 Ll Ll 01 Ll zl 6°0 7/3u (0 O L ) W4 % &
£00°0 23600 0 220°0 — — — — 220°0 1100 W¥G00°0 | G000 | 5000 £00 0 — — v | %8N OITNE YA
-— - - SURTY | LURFY | LUSFSE | LUSTFE | LUSFSE | LUSFYE | LURKFY | LURFSE | LUSTFS | LUSFEH | £USSFYE | LURFYE [W00L/NIN | B “ X
0 0 % 0 I 0 0 0 ! [4 0 0 0 0 0 s | B % bl =

Aw_m_umwmwm:.@

(BEIx®) MYSE

21



B0 — B0 B0 B0 W¥10 W¥10 W¥10 W¥10 W¥10 W¥10 W¥10 W¥10 W¥10 W¥10 E -S| B
W¥50 — W¥50 W¥50 W¥50 W¥50 W¥50 W¥50 W¥50 W¥G0 W¥G0 W¥G0 W¥G0 W¥G0 W¥G0 E E-| 3
— — — NUEE NUEE NUEE NUEE NUEE NLEE NUEE NUEE NUEE NUEE NLEE NLEE )3 =
WA 9679 62°L 0z'L 9L 91'L 60 L 1L 8679 969 869 0L 0z'L (T 6L L H d
L0 9°0 L0 9°0 9°0 L0 L0 L0 9°0 L0 L0 9°0 L0 L0 9°0 /3w (9 o 1 % ¥ B
8600 0 -— 2600 0 -— -— -— -— G000 | WG00°0 | G000 | G000 | G000 | W¥G00°0 — — v |48 WO TN AY S
w1000 | 1000 100 0 -— 2100 0 -— -— w1000 -— -— 100 0 -— -— 1000 o 1/ | % &
= B} ) 2= Bl 5 &= = = = = = H O =flls H 8 = H S = H v == = =
(FH82W ) (BHIFRE) MHEWHAZSE
B¥ 0 = ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 W% 0 B¥L0 E| kS| Bt
%60 - %60 %60 %60 %60 %60 %60 %60 %60 %60 %60 %60 B¥60 B¥G0 E-f ) 3
- — — NnEE | umE | gmE | ewE | nsE | smE | ey | ews | nes | geE | e | oss S =
gL v0'L 1571 gL gL 92 L 1L 0z'L v0'L 0z'L 1571 60 L 6L ve'L €e'L El) H d
6°0 80 Ll 80 80 80 6°0 0l 60 Ll Ll 6°0 Ll Ll 80 7/3u (9 o 1 % ¥ B
2600 0 — 23600 0 -— -— -— -— NG00 | W¥G00°0 | BE¥G00°0 | BHG00 | WNG000 | 5000 - - /3w %S IO 2INE U2
1000 | 1000 2000 === 24100 0 === === 231000 === === 2000 === -— =100 0 == /3w | ¥ =
H B} Y & Bl & & H H = = H H O H 6 H 8 = H O = = B = =

(FE8c )

(BEr

FE) NHEHWANELSE

22



(FE8ckd)

B¥10 — B¥10 B¥10 B¥10 B¥10 B¥10 B¥10 B¥10 B¥10 B¥10 B¥10 B¥10 $¥L0 $¥10 ] E] 78
¥G 0 — ¥G 0 B¥G 0 ¥G 0 ¥ 0 ¥G 0 ¥G 0 ¥G 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 B¥G0 £ | 4
— — — NHeE NH&E NHeE NHeE NHeE HeE NHeE NHeE NHeE NHeE HeE HeE x =
f— f— f— NLRE NLRE RS RS RS LEE RS RS RS RS RS RS fal
vl 96°9 L'l ve'L ve'L Izl vl oL 869 969 £0°L £0°L §L°L 9L°L L'l El] H d
Lo 9°0 Lo 9°0 9°0 Lo Lo Lo 9°0 Lo Lo 9°0 Lo Lo 90 /3u (5 O L ) @ % &
36000 0 = 36000 0 = 36000 0 = = 36000 0 = = 936000 0 = = 9436000 0 = Ve | Ao — /T C
83600 0 — W600 0 — W600 0 — — W600 0 — — 83600 0 — - 83600 0 — VR | B R B & A k)
#100000°0]  ——  |#100000 0ff  —- = ———  |#3£100000 0 [#£100000 0 |%2100000 0 | #100000 ‘0 |'%100000 0 [%3100000 0 | #100000 ‘0 |#3100000 0 [#3100000 0| /AW | AU — LAY A LA £ £ — 2
#¥100000°0]  ——  |=3100000 0ff - — ——— [ #%100000 0 |%2100000 ‘0 |%2/2100000 ‘0 |'% 3100000 ‘0 [%100000 0 | 2100000 ‘0 |#3%100000 0 |#¥100000 0 [#¥1000000] VBW [~ =T ¥ ¥ T &
8200 — 8200 — 8200 — — 8200 — — B¥20°0 — — B¥20°0 — R - - T |
9L £L LL — LL —- —- eL —- —- §L —- —- LL —- /3w | & ¥ ¥* £
Lg 98 6¢ — 8¢ — — 98 — — 98 — — 6¢ — /5L (E#) 764 .62 T6a1Y
vl H sl vl vl vl £l £l H el sl el sl sl vl A R TP B
936000 = 936000 = 936000 = = W¥G00°0 | WakG000 | 6000 | @¥G00°0 | BKG00°0 | G000 [ #5000 — v |8 WO ITNEAY A2
[ 0l H — ol — — [ — —- [ —- —- H —- VR | G8SHOINHET L F
#¥10 - #¥1 0 - #¥1 0 - - #¥1 0 - - #¥1 0 - - #¥1 0 - VvV |G 8 A 0 ¥ ) W
W00 — W¥£0°0 — W¥£0°0 — — W£0 0 — — W20 0 — — W¥E0 0 i Vi | @ 8 A 0 2 N W ¥
200 10°0 00 10°0 10°0 10°0 10°0 10°0 10°0 200 ¥0°0 £0°0 20°0 %00 100 VY | GSWOINHT G =S AL
k|0 — ¥ 0 — w¥| 0 — — ¥ 0 — —- ¥ 0 —- —- ¥ 0 —- VR |8 A 0 )W E
#3500 0 — #8000 — #8000 — — #8000 — — #3500 0 — === 935000 — VR |4 A L A LT A
21000 — 10070 || %1000 | #1000 [ 31000 | B¥1000 | 10000 | W¥1000 | W¥1000 | #1000 | %1000 | W¥i000 | W¥i000 | Wkl00 | Y |7 A ¢ F B (£
£00°0 000 100 000 000 ¥00°0 9000 9000 8000 1100 010°0 6000 £00°0 9000 ¥00°0 Vw |~ & ¥ oo 4G *oc
WE00 0 — WE00 0 — WE00 0 — — WE00 0 — — BE00 0 — — W00 0 — v |#® @ o o & 0 o
6100 0100 £60°0 0100 100 110°0 6100 9100 ¥20°0 £60°0 080°0 8200 1200 £10°0 100 O E A - YA (]
10070 | #1000 1000 — 21000 — — 1000 — —- 1000 —- — 1000 — R % E
£00°0 2000 5000 2000 2000 2000 2000 £00°0 £00°0 5000 5000 ¥00°0 £00°0 £00°0 2000 /| < & ¥ oo 4 *o G
#3600 0 — #3600 0 — #6000 — — #6000 — —- #3600 0 —- — 3900 0 —- VA | @ o oo 4 &
600 0 000 £10°0 000 5000 5000 £00°0 £00°0 £10°0 £10°0 610°0 6100 1100 8000 5000 A - - 7
#2000 — #2000 — #2000 — — #2000 — —- #3200 0 —- — 3200 0 —- A | W EL] o o 4
£0°0 @900 10 — 2900 — — 600 — == 1o == == 80°0 o R ¥ =
21000 — W¥100 0 — W¥100 0 — — W¥100 0 — —- #1000 — —- %1000 —- A B & ~ v
231000 — 91000 — 91000 — — 91000 — == 91000 == == 91000 = Vu |21 £ T 00 & 6
21000 — W¥100 0 — W¥100 0 — — W¥100 0 — —- #1000 —- —- 31000 —- Y | A1 £ T oo g &5 L
22000 — 92000 — 92000 — — 92000 — == 92000 == == 92000 == w |~ & ¥ O o 4 &
y ; " : " : " : . : . . A1£TO04LGCI-XTE
%000 - B¥900°0 - B¥900°0 - - B¥900°0 - — W00 °0 — — @000 — V| nwAatTOOGG-2 -Y A
936000 — 96000 — 96000 — — 836000 — == 93600 °0 == == 96000 === AT RO N B AR AR
%2000 0 — %2000 0 — %2000 0 — — %2000 0 — — 832000 0 — — 8320000 — | % ] g4 5t bd
¥ 0 === #¥10 === #¥10 === === ¥ 0 === — ¥ 0 — — 2¥1 0 — V| %8 % 0 XN E G
800 | B¥s00 80°0 — 83800 — — 800 — — 83800 — — %800 — Vi | % S A 0N E AL
€0 [ V0 — [ — — V0 — — 20 — — £0 — Vi | EFRANE NN EFHER
B3100°0 - B3£100°0 - B3£100°0 - - B3100°0 — — #3100 0 — — B¥100°0 — Vv | ALARENT A KGN~ LA
2000 === 2000 === 2000 === === W00 0 === == W00 0 == == 29000 === I
3600 0 - 13600 0 - 3600 0 - - 3600 0 - — #3600 0 — — B£¥500 0 — Ve |G 8 A T o 4 W M
21000 === 21000 === 21000 === === B¥100°0 === == 21000 == == @¥100°0 === v |8 A 0 XD W OE 3
B3100°0 - B3£100°0 - B3£100°0 - - B3100°0 - — #3100 0 — — B¥100°0 — v | 8 A 0 2 N W B
W¥100°0 == W¥100°0 == W¥100°0 = = @13100°0 = == @100 0 == =— @100 0 — v | %8 W0 rNH <A
#¥50000 0 — 9350000 0 — 9350000 0 — — 9350000 0 — — 8350000 0 — — B3£60000 0 — Vv |G 8 W 0 W W N
23¥€000 0 === 23¥£000 0 === 23¥£000 0 === === €000 0 === === #3¥£000 0 === === 236000 0 === Vi | GSHOINET LSS
— — —  |eueww | suewy | tuemy | Luewy | Lulwy | Lulwy | Luewmy | Luewy | Luewy | Luewy [ tuewme | cuome [woo/na| B ] ¥
0 — 0 0 0 0 0 0 0 0 0 0 0 0 0 u/RHE | B i3 i —
BG4 BIEE FIEE HE He HL HzlL HLL HOL H®6 H8 HL HO9 HS HY

(BEIE®) WMEHSE

23



W0 — W0 W0 W0 W0 W0 W0 W0 [ ] W0 [ ] W0 W0 W¥l0 E-| ] !
G 0 ==== B¥G 0 G0 B¥G 0 B¥G 0 B¥G 0 B¥G 0 B¥G 0 w6 0 NG 0 w6 0 W¥G O B¥G 0 W¥G 0 ] E) S
— — f— TugE | 1ueE | wer | ase | nes | weE | e | s | nss | nes | see | e X ]

— — — NgmE | 1neE | neE | wsE | gaE | dneE | nsE | gse | geE | nsE | ssE | 1sss ¥
gLt 69 et 9L ve'L 6l°L oL oL'L 16°9 669 869 v0'L gLt §L°L Le'L El] H d
L0 G0 870 9°0 9°0 9°0 L0 L0 9°0 L0 L0 L0 L0 80 50 /3w (9 O L ) Wt #% %
w800 0 — w800 0 — w4800 0 — — w800 0 — — 84800 0 — -— 23800 0 -— 7/8u d 3 L A L T A
231000 -— 1000 || W¥1000 [ B¥I1000 | WXI000 | WH1000 | BX000 | WH1000 | BX000 | B¥1000 | @000 | B¥000 | X000 | B¥X1000 RV B A [T ES o c
£00°0 000 €10°0 000 000 5000 900 0 8000 8000 €10°0 11070 600 0 8000 £00°0 500 0 7/8u < & ¥Oooé4a ol
WNE00 0 ===z WNEE00 0 ===z @¥£00 0 ===z ===z 2200 0 ===z ===z =Ne00 0 ===z === 2Ne00 0 == T/3u #w # o o ¢ n A
12070 01070 8600 100 11070 €10°0 910°0 12070 5200 8€0°0 €600 8200 €200 610°0 €10°0 7/8u <% ¥ o v i N
£00°0 2000 9000 2000 2000 2000 2000 000 £00 0 900 0 9000 000 0070 €000 2000 7/3u < & ¥ oo 4 o Los
2600 0 — 2600 0 — 2600 0 — — 2600 0 — — @600 0 — — 2600 0 — /3w W@ o o 4 (S
01070 000 61070 000 500 0 9000 8000 600 0 71070 6100 910°0 5100 110°0 600 0 900 0 Vsw | ST A s o o 4
2700 0 ——— 2700 0 ——— 2700 0 ——— ——— 23700 0 ——— —— 2700 0 —— — 2¥700 0 — /30 | B 1§ o o 4
10°0 23900 710 -— 2300 0 -— -— 600 -— -— 710 -— -— 900 == /8 | ¥ B
- - - SURFY | LURFY | LUSFE | LUSTFE | EUSFSE | LUSFYE | LURKFY | LURFSE | LUSFE | LUSFS | £USSFYE | LURSFYE [W00L/NdN | B = h'a
0 -— 0 0 0 0 0 0 0 0 0 0 0 0 0 /L | B ¥ W =

El{EE

HaE =HEF

(F&82%h)

HL

Hel

HLL

HOlL

H6

H8

HL

H9

HS

Hv

(BEIxE) & | DM

24



W¥l0 -— W¥l0 W¥0 W¥0 W¥0 W¥0 W¥0 W¥0 B0 B0 B0 W¥0 W¥0 B¥l0 E| E =4
B¥G0 S B¥G 0 B¥G 0 B¥G 0 B¥G 0 B¥G 0 B¥G 0 B¥G 0 B¥G0 B¥G0 B¥G0 WG 0 B¥G0 B%60 E| S =3
NLEE -— NLEE NLEE NLEE NLEE NLEE NLEE NLEE NoRE NLRE NHEE NLRE NLRE N EE 4 =
NLEE -— NLEE NLEE NLEE NLEE NLEE NLEE NLEE NLRE NLEE NLEE NLEE NLEE NLEE W
L 679 66 L 82°L el 9L GlL €Ll 20°L 69 10°L 0L L 1L 66 L Ell H d
L0 50 8°0 9°0 9°0 L0 L0 L0 9°0 80 L0 9°0 L0 L0 50 /30 (0 O 1 ) 4% &
Jz:3¢ 100000 0 — W3100000 0 — -— -— 53100000 "0 | 43100000 0 | 23100000 0 |23 100000 0 | 243 100000 "0 | 43100000 ‘0 |3100000 0 | 23100000 0 [2%100000 0| 18w | A — kAU YA A £ ¥ —2
L2 100000 0 — 83100000 0 — -— -— 3100000 "0 |23 100000 "0 |23 100000 "0 | 243 100000 *0 | 243 100000 ‘0 | 243 100000 ‘0 | 243100000 ‘0 | 243100000 0 | 100000 0| /8 | < = Y ¥ T &
vl 1l 51 vl sl vl €l €l 1 vl sl gl sl Gl vl v | 2k y % A %
B¥G00 0 - B¥G00 0 - 8600 0 - - 8600 0 - - 8600 0 - - 83600 0 — vV | %S A0 ETNY YA
W0 — W0 — W0 — — W0 — — ¥ 0 — — |0 — v | % 8 W 0 X N W
W00 - W00 - W00 - - W00 - - B0 0 - - 860 0 — Ve |4 8 U 0 " B
200 10°0 7070 10°0 10°0 10°0 100 10°0 200 200 ¥0°0 £€0°0 200 200 100 vV | GSAVO2ZNET L= AL
CIEN) - CIENI) - @) 0 - - @) 0 - - w0 - - @] 0 — V|4 8 U O W EE
w800 0 — w600 0 — w4800 0 — — w4800 0 — — w4800 0 -— — w3800 0 -— v |4 A L A LT A Ak
B¥100°0 - W100°0 || ®¥10000 | ®¥10000 | ®¥10000 | ®¥1000 | B¥1000 | B¥1000 | B¥1000 | B¥1000 | W¥1000 | WX1000 | Wk1000 | W%1000 V2 B A [ G T © o c
£00°0 000 110°0 000 000 000 900 0 900 0 £00°0 110°0 110°0 600 0 £00°0 900 0 #00°0 V| 2 % ¥ oo 4 G 0L
W00 0 - W00 0 - 8600 0 - - B¥E00 0 - - 8600 0 - - 83600 0 — /. |3 # o o & n o
610°0 010°0 €€0°0 010°0 110°0 110°0 910°0 £10°0 2200 €€0°0 €€0°0 820 0 120 0 £10°0 1100 RV IR 2 S - AV AN (R
W¥100°0 | ®¥1000 100 0 === B¥100°0 === === B¥100°0 === === 100 0 === === 231000 == /8u | ¥ ]
€000 200°0 9000 200°0 2000 2000 2000 €00 0 €00 0 500 0 900 0 000 €00 0 €00 0 2000 Vw | < & ¥ oo 4 FT0OL G
W00 0 === W00 0 === W00 0 === === W00 0 === === BI¥600 0 === === 23600 0 == /8w | @ 4 o o 4 G
010°0 000 £10°0 000 500 0 500 0 8000 8000 2100 £10°0 910°0 510°0 1100 800 0 5000 V3w | ST A g o o 4
B¥700°0 === B¥700°0 === B¥700 0 === === 82000 === === 812000 === === 83700 0 == /8u | £l o o 4
L0°0 W90 0 [4%0] -— w3900 -— -— 60°0 -— -— [4%0] -— -— 800 — /3 | ¥ By
w0 === CIENI) === w0 === === w0 === === x| 0 == === @] 0 == V|G 8 A O N W E L
W¥100°0 — W¥100°0 — B¥100°0 -— -— B¥100°0 -— -— 81000 -— -— 81000 -— V| ALAWENE AR VG LA
W00 0 === B¥P00 0 === B¥P00 0 === === B¥p00 0 === === 8900 0 === === 21900 0 == v | ¥ OFE O OH W R @
B1¥600 0 — B¥600 0 — B1¥600 0 — — B¥600 0 — — 84600 0 — —— B¥G600 0 -— 7/3u 4 S AU T o 4 B M
24100 0 E B¥£100 0 E 241000 s s 241000 s e 2100 0 e === S¥100 0 = /3w 4G 8 A © > 1 ¥ ¥ 3
BN 100 0 — BN 100 0 — B¥100 0 — — B¥100 0 — — B¥100 0 — —— S¥100 0 -— 7/3u G\ 8 U 0o r N W B
24100 0 s 2100 0 s 21000 o o 21000 o e 2100 0 e === S¥100 0 = /3w 48 I 0 X NYH <1 F
2360000 0 — 2360000 0 — S¥£60000 0 — — 2360000 0 — — S¥60000 0 — —— 2¥60000 0 -— 7/3u 4G 8 A © x N W & X
36000 0 = 36000 0 = 36000 0 = = 36000 0 = — 36000 0 — ==== 36000 0 = /3w GhSAIO2INET L] L
— — — SURFE | LUSTEH | LUSFE | LUSFY | LURSFYH | LUSFE | LUSEH | LUSFE | LURFY | LURFE | LUSFES | LUSFEH |Wwool/Nd| B “ ¥
0 — 0 0 0 0 0 0 0 0 0 0 0 0 0 Q% i3 T =
B+ EHiEE REE HzlL HLL

(F&82¥h) (BE=ENE | £BMEY

25



8l 69 562 78 69 06 8 LI LLL 5% S°Le 5°6¢ A4 (74 261 A e} 24 3¢
€76l 20 9762 ¢ 20 ve 9701 8zl A €°1g €82 9°62 1244 86l zel 2, 24 x
9€1°0 600 2520 600 €010 8010 G610 €10 2520 1510 vEL'0 €10 ovl 0 9€1°0 9110 k-1 *oOoom W ¥ ¥
10°0 W00 200 200 10°0 200 10°0 20°0 100 W00 w1070 W¥I0°0 w100 B¥10°0 10°0 V| ¥E E O L - F A 4
e Ll ¥°9¢ ¥°9¢ ¥°9¢ €°6¢ 9°%¢ 5ge LLg 5°6E Lve €1 61¢ LY £°6¢ vau | H fi 74 ar L
v7l 86 8¢l [l [l el 2! £zl 8°6 Lzl 52l 0cl 8¢l el 9°¢l w/sw | s B Z x 2
¥0°0 200 710 50°0 80°0 7070 £€0°0 £€0°0 18] £€0°0 200 00 ¥0°0 €0°0 20°0 VvV | GGSWNO2XNET L= AL
w1070 — w1070 — w1070 — — W¥1070 — — W¥1070 — -— w070 -—- YV | A1 £L£TOO4G— L "L
0075 0072 0001} — 00v2 — — 00011 — — 001¢€ — -— 0005 = QL% = I - -
861~ 9L°1- % 1- — 99°1- — — 9L "1~ -— -— (A -— -— 1971~ — (BB LN LAEC) HEE
¢ °L 0z°L 8y L 6L L 8y L €e 'L e 'L 1L 2L 8y L L €L 0L 0¢ L Ell H d
6°¢ 81 26 ve 26 9°¢ €7 LT €8 A 8’1 6°¢ [ €e [ -1 ) B

28 SL 8 = 8 = = SL = = €8 = -— 8 === /3w 73 & ¥ ¥ #

€ [4 v — 14 — — € — — 4 — — ¥ — (N O L) ¥ 8 % ¥

vl [ Ll 1l vl A A el Ll 9L vl el vl 9L Al /3w (9 O 1 ) @ % &
7000 — w700 0 — B¥700 0 — — B¥700 0 — — B¥700 0 — — 84700 0 — VY UL —T AL LA £ K
¥E0 0 — BNE0 0 — BNE0 0 — — BNE0 0 — — BINE0 0 == = B¥60 0 — Vdu | ZA&ToBD 4N —L L L
8¢ 0°¢ A — 8¢ — — [ — — Ly — — 0°¢ — /3w | # p) - o
€00 810°0 %00 — 810°0 — — 8200 190 0 200 1€0 0 €00 %00 800 = V|48 AWO TN AR
8¢ Le 68 — 6¢ — — Le — — 8¢ — — 6¢ - /3w (EHE) ET64% (27T6L4ANME
X100 X100 700 = = = = = = = @¥10°0 00 @¥10°0 %100 B¥10°0 /3w B b &
3700 0 — BNT00 0 — BN700 0 — — 2700 0 - - 2700 0 - — @200 0 — 7/8u A — < o 4 N &
10070 — W¥100 0 — B 100 0 — — 8100 0 — — B¥100 0 — — 8100 0 — V| U =4 FLod GG
23800 0 -— 2800 0 -— 23800 0 -— -— 243800 0 -— -— 243800 0 -— -— 243800 0 -— /30 (M AE~NVU£TI-C) CHALC
00 — W00 — B0 0 — — B0 0 — — B0 0 — — B¥p0 0 — 3w | < T 4t |
S¥1000 0 — 21000 0 — S¥1000 0 — — S¥000 0 — — S¥000 0 — — 000 0 — Vv | A TBOoB 66 —2 "L
237200 0 — B¥700 0 — B¥200 0 — — 243200 0 = = 243200 0 = — 243200 0 = /30 S o 2xNHEANL A=
232000 0 -— 232000 0 -— 232000 0 -— -— 32000 0 -— -— 32000 0 -— — 32000 0 - /30 %S A 022N LC 4
237200 0 — BN700 0 — B¥200 0 — — 243200 0 = = 243200 0 = — 243200 0 o /30 GhSHO2INEAATL£AL

(BE82X )

(8=

DEHEHI) WHAE
I

SHEHUBHIEHNBHS

26



69l 09 8¢ G 'L 09 08 0°¢l 091 S'1e 092 S 82 S g Lt 08l T 9, 4 R4
! 20 962 G¢ 20 7'¢ 90l 82l [ [ €82 9°6¢ 1A 8 Gl [ 9 = =
920 0 2200 7800 120°0 £20°0 120°0 820 0 2€0°0 120°0 9200 8200 £20°0 9200 220 °0 £20°0 EE R TR
9°¢l L1 5yl 5l 9°¢l 8¢l 9°¢l 6 ¢l L1l 9°¢l 8¢l [ 7l 7l ERT! u/su | s & ) ® £
7L 969 62°L 0z°L 92°L 91°L 60°L Ty 869 96 9 869 L0°L 0z 'L T 67 L El] H d
¥ -— ¥ ¥ ¥ ¥ ¥ ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 ¥ 0 2|0 | E) -4
L0 9°0 L0 9°0 9°0 L0 L0 L0 9°0 L0 L0 9°0 L0 L0 9°0 1/3u (0 O 1 ) @ % &
=¥100 0 — ¥ 100 0 -— -— -— -— w000 | w000 | @¥i000 | @000 | @000 | wki000 — — 7/3u Ghs 3 0 2XNY <Y~ 2
— e v
(FF8cHt) (SEHELHEHRS) WEWURESE
[ 09 G 8¢ Gl 09 08 0¥l 0°L1 072 092 G 82 L1 0°¢¢ 8l G Ll 9, o R4
€6l Z0 962 5¢ z0 [ 90l 87l [T [ €82 9°67 12 8 Gl zel oY IR x®
€600 120°0 0v0 0 1€0°0 820 0 2600 5600 00 0 7800 7800 1€0 0 620 0 200 960 0 €€0 0 B OO¥X ®m % ¥ %
Ll vl 9yl S gl Ll 6°¢l Ll 8¢l vl 9°¢l 0¥l £gl € vl € vl 971 u/sw | = & Bl = )
gL ¥0 'L 1§°L 12l gL 9L 6L 0z L v0 'L 0z L 1571 60 L 6¢ L VoL g€l E] H d
5|0 — B0 B0 B0 B0 B0 B0 B0 B0 B0 W0 Q¥ 0 B0 W0 E E &
60 870 [l 870 870 80 60 01 60 Ll Ll 60 Ll Ll 80 1/3u (0 O L ) 4 % &
B¥100°0 | B¥100°0 100 0 — — — — @¥100°0 | 2¥1000 | ®¥I1000 100 ‘0 ¥(00°0 | B4¥100°0 — — /3 %S A 0 2NY YA
= o N
(FEF8cHt) (SEHELHEHES) WEW (LIS
8Ll 1L 9 °6¢ 18 3 68 L) 0°L1 L7g LT 9°6¢ 192 9°¢¢ €6l 8Ll 9 T R4
€6l Z0 962 G¢ z0 Ve 901 87l [T [N €82 9°67 14 86l [T 9, o =
§50 0 70 0 990 0 770 0 ¥$0°0 8100 8500 290 0 990 0 1900 1500 970 0 950 0 1900 750 0 H ¥ m O ¥ %
Lgl £l 5yl 5gl 8¢l 8¢l L¢l 8¢l [T 9°¢l 6°¢l [T v vl [RL! Syl w/su | sk & B = B
82 L 60 L 05°L v 'L ve'L 5L [T 12°L 60 L 12°L 05 L €8 L 'L €L €8 'L El] H d
B¥10 -— B¥10 B¥10 B¥0 B¥|10 B¥|0 B¥0 B¥|0 B¥0 B¥|0 B0 B0 B0 B0 E] Ed 4
6°0 8°0 1l 8°0 8°0 8°0 6°0 60 0l Ll Ll 60 Ll Ll 80 1/3u (0 0o 1 ) @ % &
w1000 | ®¥1000 100 0 -— -— -— -— 1000 | X000 | B¥1000 1000 w1000 | W¥1000 -— -— 1/3u %hsS I 0 2XNYE <Y~ 2
€0 10 [ €0 [ €0 20 20 0 €0 €0 [ Z°0 20 L0 1/8u | ¥ B & ¥
— a e v
(BE8cWd) (SEEFHBES) WECHS
28l [ 8 '6¢ 68 1L 68 57l 891 8°7¢ L°8¢ 8 6¢ 0L €1 v 6l Gzl 9, T R4
€6l z0 962 G¢ z0 [ 90! 87l [T [ €82 9°67 14 8 Gl 7€l 9, = =
0400 850 0 160 0 090 0 €900 990 0 7100 60 °0 160 0 690 0 990 0 850 0 £90°0 6L0°0 1£0°0 E| ¥* LA 5 \'4 *
8°2¢ S L2 8 ¥ 9 v 8 v 0¥ 08 L2 S 1T 0ve 6 2¢ 82t 87¢ Lgg [ 7/3u T fi o 4 AL
5l L1l FRA] £l 8¢l Lgl 5¢l 9°¢l L1l el 8¢l 7€l [RT! [T [RT! wsw | s & B = )
82 °L 60°L 9% L L 1E°L 62°L €L 9L 60 L 121 9% 'L gL ov L Ve L 1L El] H d
20 w0 50 €0 50 €0 20 z0 [ ¥ W¥L0 L0 10 [ €0 ] ] -4
0l 8°0 A 80 80 60 60 0L 0L ! ! 0L ! [l 60 /3w (9 O 1L ) 4 % &
600 0 700 0 2200 — — — — 2200 110°0 700 0 700 0 700 0 L£00°0 — — 1/8u %S WO XINTAYLA2
€0 ) 70 Z°0 70 70 €0 [ €0 €0 L0 L0 z0 €0 €0 /30 | ¥ B & £
M ~ s\ /|
(F&8c) (ZBEXFBHHS) NEHYGE

27



08l VL 8°6C 78 VL 68 82l LLL 8¢ ¢l 8°6¢ A4 9°¢C €61 6711 e} 24 4
€76l 20 9762 5S¢ 20 ve 9701 82l zLL €°Le €82 9760 (244 86l zel 2 24 x
8200 5200 €00 9200 5200 8200 1€0°0 €00 0€0°0 0€0°0 1200 1200 200 920 0 1200 H O O¥ ®wm ¥ ¥ %
8¢l 02! 91l Lel 8¢l 6°€l 8¢l 6°€l 0cl 9°¢l 0yl eel 9yl vyl 9yl w/su | & Z = B
200 10°0 70°0 10°0 10°0 10°0 10°0 10°0 10°0 200 00 €0°0 200 200 10°0 /3 GSAOINETL=AUL
W00 — W¥1070 = B¥10°0 = = B¥10°0 = = B¥10°0 = = B¥10°0 — 7/3u 214£TOoOé4G— 1L L
k) —- k) - k) - - k) - - k) - —- k) — |weEs| B B ¥ ¥ B X
8 1- 861~ 1971~ = 96°1- = = 861~ = = 1971~ = = vL o1~ — (BEBLNLAC) HEH
(4 969 Le'L ve'L veL 121 vLL 1AW} 869 969 €0°L €0°L L 9L°L el Ell H d
B¥L0 -— B¥10 B¥10 B¥10 B¥10 B¥10 B¥0 B¥0 B¥0 B¥0 B¥0 B¥0 B¥10 B¥10 ) | 4
9L €L LL — LL — — €L — — 5L — — LL — 7/3u th 2 ¥ * ¥

I I L === I = = I = = I = S I S (N O L) H & % &%

L0 9°0 L0 9°0 9°0 L0 L0 L0 9°0 L0 L0 9°0 L0 L0 9°0 /3w (9 O 1 ) @ % &
w700 0 — ¥700 0 — B¥700 0 — — B¥700 0 — — B¥700 0 — = 8700 0 — 7/3u AL —TA£L-FU£ K
WNE0 0 — WN¥E0 0 -— BNE0 0 -— -— BNE0 0 — — BNE0 0 — — B¥E0 0 — /30 2&TOOG N4 — L L L
LG 8y 7§ — 8y — — VA — — VA — — 67 = /84 W Eej E T
%1000 -— 342100 0 -— S¥100°0 -— -— @HI00°0 | BE¥I00°0 | B¥I000 | WNI1000 | WHI000 | WHKI000 | BF1000 - 1/3u GhS o xXNHE U2
Le 9 6¢ — 8¢ — — 9e — — 9e — -— 6¢ == /3w (EHE) ET64% G2 T041K

9°0 9°0 9°0 9°0 9°0 9°0 9°0 9°0 9°0 9°0 9°0 9°0 9°0 9°0 9°0 /80 ¥ B & ¥
w100 — ¥ |00 — — — — — — — w100 w100 w100 w100 w100 53 ¥ =
w700 0 — WN¥T00°0 — W¥700 0 — — 8700 0 — — 8700 0 — — 8700 0 — 7/3u A — <& o & X B
B¥100 0 — 1000 — B 100 0 — — 8100 0 — — B¥100 0 — — 8100 0 — /30 A NH 4 =4 3F4Loo g s
2800 0 -— 3800 0 -— 23800 0 -— -— 243800 0 -— -— 243800 0 -— -— 243800 0 -— /30 (M AE~NVU£TI-C) CHALC
W00 — N0 0 — B0 0 — — B0 0 — — B0 0 — —_ B¥p0 0 — 7/3u ~ T 4l |
21000 0 — 21000 0 — S¥1000 0 — — S¥000 0 — — S¥000 0 — — 000 0 — 7/3u 2~ &T0O0O4LG—2 'L
BN700 0 — 237200 0 — B¥200 0 — — 243200 0 = = 243200 0 = — 243200 0 o /30 S Ao 2xNHEAL A=
232000 0 -— 232000 0 -— 232000 0 -— -— 32000 0 -— -— 32000 0 -— — 232000 0 - /30 %S A 02N LC 4
B¥700 0 — 237200 0 — BN200 0 — — 243200 0 = = 243200 0 = — 243200 0 = /30 GHSAOINEAT£LAL

CEIACHD)

(B8

StB8I2) WESE

28



€Ll 1L 88 6L 1L 78 87l 091 §1T 897 882 9°6¢ 5°C 08l 07l 9, m R
1Ll Ly 108 8°g Ly 8L 124! 8¢l G 6l [ 062 1 °0g 967 G591 1! 9, o =
620 0 200 €600 8200 200 6200 1€0°0 €600 620 0 620 0 £20°0 120°0 12070 €600 5200 HOO¥X ®m % 4 %
6l 0zl 991 8¢l 6°¢cl 0¥l Lgl 0l 02l Lgl 0l el 9yl Syl 9l w/sw | s & ) ® 8
200 10°0 700 10°0 10°0 10°0 10°0 10°0 200 200 00 €00 200 200 10°0 1/3u GHSAOZINHETL=AL
SLL 69 68 L 82°L 1L 92°L 1L 60 °L 20°L 69 10°L v0°L [T 12l 68 L El] H d
2% 0 — B¥|0 B¥0 B¥0 B¥0 B¥0 B¥0 B¥0 B¥0 B¥0 B¥l0 B¥l0 B¥l0 B¥l0 E| E 5
L0 50 8°0 9°0 9°0 L0 L0 L0 9°0 8°0 L0 9°0 L0 L0 50 7/3u (9 O 1 ) U B ¥
242100 0 S B¥100 0 S =100 0 S S =100 0 S S S¥100 0 S -— =100 0 === /3w %S AW o0o 22N AYA2
50 70 L0 70 70 70 70 70 S0 L0 70 9°0 S0 70 50 /3w ¥ r & ¥
232700 0 — 23700 0 — 243700 0 — — 23700 0 — — 243700 0 — — 2700 0 -— 7/3u A — <& o & N B
%1000 — %1000 — %1000 — — 31000 — — %1000 — - %1000 -— /3w A Nhd - FL0o0 4G
232700 0 — 23700 0 — 243700 0 — — 23700 0 — — 243700 0 — -— 2700 0 ==== 1/3u %S WO 2XNHAN LA
232000 0 — 232000 0 — %2000 0 — — %7000 0 o o %7000 0 o — 232000 0 — /3w G4 S I 0 2NYE L4
232700 0 — 23700 0 S 243700 0 S S 2700 0 S S 243700 0 S -— 2700 0 ==== /3w GhSAWAOIXrNEAXTLAL
= -
= KO
(B8 ) (ZEHEEEBEHS) W& | EMmMITBY
Sl ¢l 782 08 L 66 62l 691 177 597 8¢ 1°Ge 57 28l zel 9, m R4
98l 0 (43 69 0¥ 08 9°€lL 8yl 012 7°0¢ 0°2¢ 128 092 781 591 9, o £
6200 §20°0 00 0 0€0 0 2€0°0 8200 1€0°0 070 0 0€0 0 0€0 0 920°0 920°0 £20°0 £20°0 §20°0 E ¥* L] i 4 *
6°€l 0zl Lyl 8 €l 0¥l 0yl 8 €l 6°¢l 02k L€l Lyl v el 9yl vyl LYl u/su | g & ) ® B
gLl 669 el 9L ve'L 6l°L [ olLL 1679 569 869 v0'L gLt SL°L el El] H d
W¥0 — W¥0 H¥0 W% 0 B¥0 B¥0 B¥0 B¥0 B¥0 B¥0 B¥0 ¥ 0 B¥0 B¥0 -S| H g
Lo 50 8°0 9°0 9°0 9°0 L0 L0 9°0 L0 L0 L0 L0 80 G0 /8w (0 O 1 ) W % &
70 €0 G0 70 €0 70 70 €0 S0 v0 S0 S0 50 €0 50 /8w ¥ B & E74
w700 0 — w700 0 — 23700 0 ——— ——— 2700 0 ——— ——— 2700 0 ——— —— 2700 0 —— /8w A — <€ o 4 N &
31000 -— B¥100 0 -— B¥100 0 -— -— B¥100 0 -— -— B¥100 0 -— -— S¥100 0 -— /3w ANy =4 3FL00 4G
=
B K0
(HE8cWd) (ZEHEEEBHS) W& | Ly

29



H@Mmmoo 0 -— 23800 0 _._.ﬁmmmoo 0 23800 0 233800 0 %800 0 233800 0 ._\3 ~ =] T y & |6s
21360000 0 - 1360000 0 __Emmmoooo 0 360000 0 360000 0 360000 0 43€£0000 0 /30 ~ 14 & L y & |8
243€£0000 0 i 43%£0000 0 __ﬁmmmoooo 0 243£0000 0 230000 0 43£0000 0 2430000 0 /30 b - 1 v A X & LS
2136000 0 - 136000 0 __Emmmooo 0 2436000 0 36000 0 36000 0 B43€000 0 /30 ~ N b 13 2 |9s
2436000 0 I 2436000 0 __ﬁwmmooo 0 436000 0 236000 0 436000 0 436000 0 /380 b — T b X [ 1
2437000 0 - %7000 0 __ﬁMmNooo 0 437000 0 %7000 0 %7000 0 432000 0 /380 ~ (i bl X % X &S
243€£0000 0 I 43%£0000 0 __Ewmmoooo 0 43£0000 0 30000 0 43£0000 0 230000 0 /380 ( 1 v O ) ~ & 2 2 |es
24390000 0 - 4390000 0 __ﬁ%moooo 0 4390000 0 21390000 0 4390000 0 43£90000 0 /30 o £ c £ ~ M =} \ [ 4]
24360000 0 I 24360000 0 __Ewmmoooo 0 4360000 0 21360000 0 24360000 0 24360000 0 1/3u o A ¥ + & 19
2430000 0 — 24%$0000 0 __ﬁwmvoooo 0 24%$0000 0 21310000 0 24%$0000 0 2310000 0 /380 (A ¥ k¥ £AU£T) < ¥AYS |8
24360000 0 i 4360000 0 __Ewmmoooo 0 4360000 0 21360000 0 4360000 0 43360000 0 /380 b ~ [ 4 [ 1A
24380000 0 - 4380000 0 __ﬁwmmoooo 0 4380000 0 21380000 0 4380000 0 2380000 0 /380 (d A a a) ¥ ¥ v« o ¢ & |9
243000 0 i 43000 0 __Ewmmooo 0 43£000 0 3000 0 43£000 0 43%£000 0 /380 ( N g8 a ) A = v O & ¢ |s
2437000 0 — %7000 0 __ﬁwmwooo 0 437000 0 %7000 0 437000 0 %7000 0 /380 (. n W O a ) <A o & & |
243%€£0000 0 i 243%£0000 0 __Ewmmoooo 0 43£0000 0 230000 0 43£0000 0 230000 0 /380 (d vV A O ) Y ¥ 7 4L 4 |y
2430000 0 - 24%$0000 0 __ﬁwmvoooo 0 24%0000 0 310000 0 240000 0 S4¥$0000 0 /380 ~ & + 4 [ 144
2436000 0 I 436000 0 __Ewmmooo 0 436000 0 %6000 0 436000 0 %6000 0 /380 (N d 1 ) A4 — o & o o & 84
243£0000 0 - 2430000 0 __ﬁummoooo 0 43%£0000 0 230000 0 43%£0000 0 4¥£€0000 0 /3w ¥ b i A ar o & oy
24310000 0 I 24310000 0 __ﬁum_oooo 0 24310000 0 21310000 0 24310000 0 20310000 0 /3w (dNDO) <~ T c o4 — A0 & |62
2437000 0 - %7000 0 __ﬁumwooo 0 2437000 0 B%7000 0 437000 0 2437000 0 /3w £ ~ =] £ X =} 4 |se
2%70°0 -— B%70°0 __ﬁﬁmwo 0 B%70°0 %700 B%70°0 %700 /3w b — £ 3 fi & |9e
243000 0 - 243000 0 __ﬁummooo 0 436000 0 23000 0 436000 0 23000 0 /3w ~ =] ar = (728 L3
2%€00 0 I %200 0 __ﬁummoo 0 B%00 0 €00 0 B3%€00 0 %200 0 /3w ~ & £ & ¥ |re
24360000 0 - 4360000 0 __ﬁummoooo 0 4360000 0 2360000 0 4360000 0 213360000 0 /3w ( N O V ) < = £ & r ¥ g8
24360000 0 -— 4%G60000 0 __ﬁummoooo 0 4360000 0 213360000 0 4360000 0 23360000 0 /3w ~ < [+ N ar ¢ |ze
24%000 0 - 24%$000 0 __ﬁumvooo 0 24%$000 0 3000 0 249000 0 23%$000 0 /3w 8l g M =] £ ar 74 1€
2436000 0 I %6000 0 __ﬁummooo 0 436000 0 236000 0 436000 0 236000 0 /3w ( O vV N ) A o N A e |0g
24380000 0 - 4380000 0 __ﬁumwoooo 0 4380000 0 21380000 0 4380000 0 S43£80000 0 /3w o — =] b 24 ~ = [4 ¢ |8e
23900000 0 I 3900000 0 __ﬁumoooooo 0 43900000 0 23900000 0 43900000 0 23900000 0 /3w 4 3y + X ¢ |
21000 - 2%100 0 __ﬁum_oo 0 B%100°0 21000 2%100°0 21000 /3w ~ a a bl X £ i ¥ |92
243%€£000 0 -— 243000 0 __ﬁummooo 0 B43%€£000 0 B3%£000 0 B43%€£000 0 43000 0 /3w (BB % & ) B < < ¥ ¥ |5
2437000 0 - 437000 0 __ﬁ.ﬁmwooo 0 432000 0 %4%7000 0 437000 0 432000 0 /3w ~ 3 X a] 4 & + * ¥ |
2431000 0 - 24%1000 0 __ﬁ.ﬁm_ooo 0 2431000 0 %1000 0 2431000 0 431000 0 /3w (AT AANV) AL cUxd AT |¢T
240000 0 - 24%0000 0 __ﬁumvoooo 0 24%$0000 0 %13%$0000 0 24%$0000 0 %43%$0000 0 /3w (M= X8O 4GT) MW=L LGNOHAT [T
2438000 0 - 2438000 0 __ﬁumwooo 0 438000 0 %3%8000 0 438000 0 S4¥£8000 0 /3w X 4 o £ < T Cc A T |z

154390000 0 -— 24390000 0 _Eumooooo 0 24390000 0 %1390000 0 24390000 0 21390000 0 /3w (daa3za “Y¥AIe 41) YA T L L LT |0
243%€£000 0 - 243000 0 __ﬁummooo 0 B43%£000 0 B3%£000 0 B43%€£000 0 B43%€£000 0 /3w £ 1 ' =] £ 24 T |6}
24360000 0 -— 24360000 0 __ﬁummoooo 0 24360000 0 21360000 0 24360000 0 4360000 0 1/3u ~ L [+ /4 % ~ } |8l
2436000 0 - 2436000 0 __ﬁummooo 0 2436000 0 %43%6000 0 2436000 0 436000 0 7/3u (d g 1 ) ¥ ¥ 7 v o )b |9
24300 0 - 2432000 __ﬁummoo 0 B4%€00 0 B3%€00 0 %000 %200 0 /3w (L d1 ) <~ € ¥ £ 0 £ ~ ) |§
2431000 0 -— 24%1000 0 __ﬁ.ﬁm_ooo 0 2431000 0 %%1000 0 2431000 0 431000 0 7/3u (0 d 1 W) £ A« ¢ o £ n ) |¥l
24310000 0 - 24310000 0 __ﬁum_oooo 0 24310000 0 21310000 0 2410000 0 410000 0 /3w ¥z Y ~ T c - L !
24380000 0 -— 4380000 0 __ﬁumwoooo 0 4380000 0 21380000 0 4380000 0 %13%80000 0 /3 ~ ¥ £+ + * 10 !
243%€£000 0 - 43000 0 __ﬁummooo 0 B43%£000 0 B13%£000 0 B43%£000 0 %43%£000 0 /3w o — =] 4 < L |1
24390000 0 - 4390000 0 __ﬁmwmooooo 0 4390000 0 %1390000 0 4390000 0 %4390000 0 /3w X < bl = L |01
243€£0000 0 - S43%€£0000 0 __ ¥£0000 0 H43%£0000 0 %13£0000 0 43%£0000 0 44260000 0 /3w %2 gy o = L 16
2431000 0 - 24¥1000 0 __ﬁﬁm_ooo 0 431000 0 %3%1000 0 5431000 0 431000 0 7/3u ~ i< < bl 4L |8
24390000 0 - 4390000 0 __ﬁﬁmooooo 0 4390000 0 %13£90000 0 4390000 0 %1390000 0 7/3u b = I [ Ga L |L
243600 0 - 243%600 0 __ﬁmwmo.oo 0 343%600 0 %600 0 B43%600 0 13600 0 7/3u 7 < T IS L 19
24360000 0 - 4360000 0 __ﬁﬁmmoooo 0 4360000 0 %13G60000 0 4360000 0 S43¥£60000 0 7/3u v d O A B
240000 0 - S4%0000 0 __ﬁﬁmvoooo 0 S4%$0000 0 %3%$0000 0 H4%$0000 0 S4¥$0000 0 7/3u N d ENN 4
243000 0 - 43%€£000 0 __ﬁmmmmooo 0 B43%£000 0 B3£000 0 B43%£000 0 43000 0 /3w (V d — ¥ 2 ) a — v 4 ©
2438000 0 - 438000 0 __ﬁmwmwooo 0 438000 0 %138000 0 438000 0 438000 0 7/3u (< ¥ ¢ ) vV dad - 2 4 ¢
236000 0 ——— %6000 0 236000 0 436000 0 2136000 0 %6000 0 236000 0 /3w (00) ~»v0O0 0 0O0¢&G -8 " | |

EESTACED P
AyaN—

(S | BEIZEREHIEBN) EHREHE=S

N

30



JEZ=E50000 0 - B13£60000 0 B13£60000 0 1360000 0 B13£60000 0 B13£60000 0 /o 3 % *
213100 0 - 13100 0 213100 0 1000 3100 0 1000 1/3u i =] ¥
2132000 0 - 132000 0 132000 0 B3£2000 0 432000 0 B13£2000 0 1/3u bl s + X
2136000 0 - 136000 0 4 436000 0 H36000 0 436000 0 B36000 0 1/3u ~ ¥
213000 0 - 2134000 0 |I&3v000 0 2434000 0 000 0 234000 0 3000 0 1/3u = X
2136000 0 - 136000 0 ||&35000 0 436000 0 H36000 0 436000 0 36000 0 1/3u ~ ¥
2130000 0 - 1340000 0 4340000 0 30000 0 4310000 0 30000 0 1/3u ( 1L X
213£9000 ‘0 - 139000 0 139000 0 #13£9000 0 139000 0 139000 0 1/3u i “ ¥
2136000 0 - 136000 0 436000 0 H36000 0 436000 0 36000 0 1/3u a = X
213£6000 0 - 136000 0 136000 0 B136000 0 136000 0 136000 0 1/3u ( O N c ¥
%1000 - 21/00 0 213/00 0 1000 /00 0 1000 1/3u ( < £ 2
213£60000 0 - 1360000 0 S3£€0000 0 H3£60000 0 B13£€0000 0 H3£60000 0 /3w h & hd
2131000 0 - 13/000 0 243/000 0 H1000 0 43/000 0 B31000 0 1/3u bl s v
2131000 0 - 131000 0 131000 0 B3 1000 0 131000 0 131000 0 1/3u ( oY v ) v
2134000 0 - 2134000 0 2 34000 0 3000 0 234000 0 31000 0 /3w £ v v
213600 0 - 13600 0 |l 3200 0 13600 0 B¥600 0 B3€00 0 BI600 0 1/3u ~ v
#3200 0 - 13200 0 |l&:3200 0 13200 0 3200 0 13200 0 #3200 0 /3w ~ v
2130000 0 - 130000 0 |l:3v0000 ‘0 24340000 0 30000 0 4340000 0 310000 0 /3w £ v
2136000 0 - 2136000 0 I=36000 0 136000 0 136000 0 436000 0 136000 0 1/3u ~ v
#1000 - 13100 0 |lex100 0 13100 0 1000 213100 0 1000 /3w ~ Y |00}
2132000 0 - 132000 0 I&32000 0 432000 0 132000 0 432000 0 37000 0 /3w ar E v |66
#1000 - 13100 0 |le2100 0 213100 0 1000 13100 0 1000 /3w d £ |86
236000 0 — 36000 0 |l£5000 0 36000 0 H136000 0 136000 0 36000 0 /3w ar £’ £ |6
213£6000 0 - 136000 0 |l#25000 0 136000 0 136000 0 136000 0 136000 0 /3w o £ |96
236000 0 — 36000 0 |l:£5000 0 136000 0 136000 0 136000 0 36000 0 /3w ar £ |56
2136000 0 - 2136000 0 |l=36000 0 2436000 0 136000 0 136000 0 136000 0 /3w ~ £ |e6
2136000 0 - 136000 0 |I=35000 0 436000 0 136000 0 136000 0 36000 0 /3w ar £ |26
213£€000 0 - 136000 0 |l=3000 0 436000 0 H136000 0 436000 0 36000 0 1/3u N4 c |16
2132000 0 - 132000 0 I&32000 0 432000 0 #2000 0 432000 0 37000 0 /3w ~ S £ |06
232000 0 — 32000 0 132000 0 32000 0 #2000 0 32000 0 37000 0 /3w 24 £ |68
23000 0 — 3000 0 |l:¢€000 0 3000 0 #3€000 0 %3000 0 3£€000 0 /3w i £ |88
#1000 — %1000 %1000 %1000 #1000 %1000 #1000 /3w d c |8
231000 0 — 31000 0 _— %1000 0 31000 0 31000 0 31000 0 31000 0 /3w d c |98

J%3£0000 0 — 13£/0000 0 [2£10000 0 3£/0000 0 B3£10000 0 S3£/0000 0 B3£10000 0 /3w ( ) c |s8
#3£90000 0 — 1390000 0 |l290000 0 1390000 0 390000 0 390000 0 #3£90000 0 /3w ( Al c |8
#3000 0 — 3000 0 |l¢000 0 %3000 0 €000 0 3000 0 €000 0 /3w ( g [ 4]
231000 0 I 31000 0 |l 1000 0 31000 0 31000 0 31000 0 31000 0 /3w ( ) c |18
#3£600000 0 — 3600000 0 |l¢500000 ‘0 3600000 0 #3£500000 0 13600000 0 #3£600000 0 /3w o [ (]
231000 0 — 31000 0 |l:v000 0 31000 0 31000 0 31000 0 31000 0 /3w ~ A |6L
232000 0 — 32000 0 |l2000 0 32000 0 #2000 0 32000 0 32000 0 /3w c v A 8L
#3£20000 0 — 320000 0 |l220000 0 320000 0 320000 0 320000 0 #3£20000 0 /3w ~ A L
232000 0 — 32000 0 |l2000 0 32000 0 #2000 0 32000 0 32000 0 /3w ( < A |9
#3$0000 0 — 310000 0 |l2:£%0000 0 310000 0 310000 0 310000 0 #3$0000 0 /3w ~ A |sL
23600000 0 I 3600000 0 |l22600000 0 13600000 0 3600000 0 13600000 0 #3600000 0 /3w 24 A |eL
23000 0 — 3000 0 |lt¢€000 0 %3000 0 €000 0 %3000 0 #3€000 0 /3w R i 173
239000 0 — 39000 0 |l9000 0 39000 0 %3£9000 0 %139000 0 39000 0 /3w ~ < e (VA
%100 0 — %1000 |l 100 0 %1000 #1000 %1000 #1000 /3w o 5 169
#3£60000 0 — 360000 0 |I:2£50000 0 360000 0 #3£G0000 0 360000 0 #3£G50000 0 /3w ( ) 5 189
2390000 0 — 390000 0 |l290000 0 390000 0 390000 0 1390000 0 390000 0 /3w o R 11}
232000 0 I 32000 0 |l2000 0 32000 0 32000 0 32000 0 32000 0 /3w ( g o £ 199
232000 0 — 32000 0 l2000 0 32000 0 32000 0 32000 0 32000 0 /3w c o« v £ |99
#3000 I 300 0 |letxee00 0 %600 0 €00 0 %600 0 €00 0 /3w o bl L £ |79
238000 0 — 238000 0 |l£8000 0 133000 0 38000 0 %133000 0 38000 0 /3w c £ 19
232000 0 — 32000 0 |l2000 0 32000 0 #2000 0 32000 0 32000 0 /3w 7 < [ E 4]
23100 0 — 3100 0 23100 0 31000 23100 0 3100 0 23100 0 /3w 10 £ |19

(BE8cKm)

10
{

31




=500 0 -— 13800 0 _._@mmwoo 0 13800 0 13800 0 1800 0 13800 0 /o ~ o 7 y % |6s
213££0000 0 - B13£€0000 0 |I&:3£€0000 ‘0 S43£€0000 0 H3£60000 0 B43£€0000 0 360000 0 1/3u ~ 4 1S 4L s % 8§
213£60000 0 - 1360000 0 |l 30000 ‘0 1360000 0 H3£60000 0 1360000 0 1360000 0 1/3u bl — 1 v A .3 & LS
2136000 0 - 136000 0 436000 0 H36000 0 436000 0 B3£6000 0 1/3u ~ N bl X 2|9
213£6000 0 - 136000 0 4 136000 0 H13£6000 0 436000 0 136000 0 1/3u bl — T bl X [ 1
213£2000 0 - 132000 0 |I&32000 0 432000 0 H13£2000 0 432000 0 132000 0 1/3u = N bl X % X & v
213£60000 0 - 1360000 0 |l 320000 0 S3£€0000 0 H3£60000 0 B13£€0000 0 H3£60000 0 1/3u ( 1 v o] ) <G 2 4 gs
213£90000 0 - 21390000 0 |I&3£90000 ‘0 1390000 0 #£3£90000 ‘0 1390000 0 H13£90000 0 1/3u an@ £ £ £ & B o v 4 s
21360000 0 - 21360000 0 |l:360000 0 4360000 0 1360000 0 1360000 0 1360000 0 1/3u i A ¥ * [ I
2130000 0 - 1340000 0 4340000 0 H3£¥0000 0 4340000 0 30000 0 1/3u (A A LU £T) A UYL |8
213£60000 0 - 1360000 0 91360000 0 1360000 0 1360000 0 1360000 0 1/3u bl ~ [ [4 [ A4
2¢3£80000 0 - 1380000 0 |I:3£80000 ‘0 1380000 0 4380000 0 1380000 0 H13£80000 0 /3w (d A a a) N - )
2136000 0 - 136000 0 ||35000 0 436000 0 H3£6000 0 136000 0 H13£6000 0 1/3u (N 8 a ) A4 = v O & & |
213£2000 0 - 132000 0 |I&32000 0 432000 0 B3£2000 0 432000 0 B13£2000 0 1/3u (. n N O a <~ o & & |
213£€0000 0 - B13£60000 0 |l 30000 ‘0 1360000 0 H3£60000 0 4360000 0 B3£60000 0 /3w (d VvV A O ) ¥ ¥ 7 L 4 |¢¥
2130000 0 — 310000 0 |I:£v0000 0 310000 0 310000 0 4340000 0 310000 0 /3w ~ & + L [ 14
213£6000 0 - 136000 0 |l&35000 0 436000 0 136000 0 136000 0 36000 0 /3w (N d L ) A o ¥ o o 4 |
213£€0000 0 - 1360000 0 |l:3€0000 ‘0 4360000 0 H3£60000 0 4360000 0 #3£€£0000 0 /3w 24 pa N A a o [ 4
21310000 0 - 1310000 0 |l210000 ‘0 4310000 0 H13£10000 0 4310000 0 310000 0 /3w (dNDO) <~ T o4 = Ao & |6
2132000 0 - 132000 0 I&32000 0 432000 0 132000 0 432000 0 37000 0 /3w £ ~ o £ X o 4 |8¢
2200 — #¥20°0 |lex20 0 2700 %700 2700 %700 1/3u bl — £ b N & 19¢
213£€000 0 - 136000 0 |l=3€000 0 436000 0 H136000 0 436000 0 136000 0 1/3u ~ o A = 4 |s€
2300 0 - 13600 0 |le:3€00 0 B13€00 0 600 0 B13€00 0 600 0 /3w ~ 1 £ fad * |#¢
213£60000 0 — 360000 0 |I2:£50000 0 360000 0 #3£G60000 0 94360000 0 360000 0 /3w (N O V) <A = & ¢ r *x |¢8
213£60000 0 - 1360000 0 |l:350000 ‘0 1360000 0 1360000 0 360000 0 1360000 0 1/3u ~ < c NG o "2 143
213000 0 - 234000 0 I23v000 0 231000 0 3000 0 234000 0 31000 0 /3w o = b4 o £ a ¢ e
2136000 0 - 2136000 0 l#35000 0 136000 0 #6000 0 436000 0 #3£G5000 0 /3w (9 Vv N ) i M A ¢ Jog
213£80000 0 - 1380000 0 |I:3£80000 ‘0 1380000 0 #13£80000 0 4380000 0 380000 0 /3w A — o bl Y =< T c 73 :14
213£900000 ‘0 - 213900000 ‘0 ||3£900000 "0 913900000 ‘0 13900000 0 13900000 ‘0 13900000 ‘0 1/3u Y d + R4 ¢ |
21000 — %1000 |l 100 0 %1000 #1000 %1000 #1000 7/3u ~ A o h f (i ¥ |9¢
#3000 0 — 3000 0 l:¢000 0 %3000 0 #3€000 0 %3000 0 #3€000 0 /3w (W % & ) B <~ <~ * ¥ |5
232000 0 — 32000 0 l2000 0 32000 0 32000 0 32000 0 32000 0 /3w [ X o 4 & A x ¥ |0
231000 0 — 31000 0 |l 1000 0 31000 0 #1000 0 31000 0 31000 0 /3w (RAT LA ANv) AL cAYd AT |&2
#3$0000 0 — 310000 0 |l2:£%0000 0 310000 0 310000 0 310000 0 310000 0 /3w (M= ¥B 4T) W—L4L &N T [
238000 0 — 38000 0 |l£8000 0 %38000 0 38000 0 38000 0 38000 0 /3w ¥ & ~ WO £ T c N T |12

1290000 0 I 390000 0 |le390000 "0 390000 0 390000 0 1390000 0 #3£90000 0 /3w (d a3 “YYATL 4T) XYY AT L L LT oo
23000 0 — 3000 0 |lz:¢000 0 %3000 0 #3€000 0 3000 0 #3€000 0 /3w < o ¥ o £ 24 T |6l
#3£60000 0 — 360000 0 |l2:£60000 0 360000 0 360000 0 360000 0 #3£60000 0 /3w ~ L c 4 % ~ Ly |8t
226000 0 — 36000 0 |l:6000 0 36000 0 #6000 0 36000 0 #3£6000 0 1/3u (d a1 ) ¥ <~ v 8 £ ) |9
2300 0 — €00 0 lxe00 0 %600 0 300 0 %600 0 #3200 0 /3w (L 41 ) < & £ 0 £ n » |81
231000 0 — 31000 0 |l 1000 0 31000 0 #1000 0 31000 0 31000 0 /3w (9 41 W) £ ¥ o £ b |l
#310000 0 — 310000 0 |l 10000 0 310000 0 310000 0 310000 0 #3£10000 0 /3w 24 i ~ = = n Ly el
#380000 0 I 380000 0 |l:£80000 0 380000 0 380000 0 380000 0 #380000 0 /3w ~ ¥ + e * " Y 4
23000 0 — 3000 0 |lt¢€000 0 %3000 0 €000 0 %3000 0 #3€000 0 /3w ar = =] 4 < L |1
#3£90000 0 — 390000 0 |l:90000 0 390000 0 390000 0 390000 0 #3£90000 0 /3w X 3 bl = 4L ol
#3€£0000 0 — #3£0000 0 |l:£¢€0000 0 3£0000 0 30000 0 13£0000 0 #3£0000 0 /3w 24 b m] = 4L |6
231000 0 — 31000 0 |l 1000 0 %1000 0 31000 0 31000 0 31000 0 /3w ~ & < h! 4L |8
2390000 0 — 390000 0 |l290000 0 390000 0 390000 0 1390000 0 390000 0 /3w h - = c % L L
#3600 0 I 13600 0 ltx¢600 0 13600 0 #3600 0 13600 0 #3600 0 /3w 7 < T “ L 19
#3£60000 0 — #3£60000 0 |l:£50000 0 1360000 0 350000 0 1360000 0 #3£G50000 0 1/3u v d ] W |§
#3$0000 0 I 310000 0 |l:2£%0000 0 340000 0 310000 0 390000 0 #3£$0000 0 /3w N d EN 14
23000 0 — #3000 0 |lt¢€000 0 3000 0 #3£€000 0 %3000 0 #3€000 0 1/3u (v d - ¥ 2 a — v 2 _|€
238000 0 — 38000 0 |l£8000 0 %33000 0 38000 0 %33000 0 #3£8000 0 /3w (< & %) Vv a -z F2 4
246000 0 — 246000 0 245000 0 26000 0 26000 0 26000 0 26000 0 /3w (00) ~ > 0O £ 004G - € L |

(BE8cKm)

32



JEZ=E50000 0 - B13£60000 0 B13£60000 0 1360000 0 B13£60000 0 B13£60000 0 /o 3 % *
213100 0 - 13100 0 213100 0 1000 3100 0 1000 1/3u i =] ¥
2132000 0 - 132000 0 132000 0 B3£2000 0 432000 0 B13£2000 0 1/3u bl s + X
2136000 0 - 136000 0 4 436000 0 H36000 0 436000 0 B36000 0 1/3u ~ ¥
213000 0 - 2134000 0 |I&3v000 0 2434000 0 000 0 234000 0 3000 0 1/3u = X
2136000 0 - 136000 0 ||&35000 0 436000 0 H36000 0 436000 0 36000 0 1/3u ~ ¥
2130000 0 - 1340000 0 4340000 0 30000 0 4310000 0 30000 0 1/3u ( 1L X
213£9000 ‘0 - 139000 0 139000 0 #13£9000 0 139000 0 139000 0 1/3u i “ ¥
2136000 0 - 136000 0 436000 0 H36000 0 436000 0 36000 0 1/3u a = X
213£6000 0 - 136000 0 136000 0 B136000 0 136000 0 136000 0 1/3u ( O N c ¥
%1000 - 21/00 0 213/00 0 1000 /00 0 1000 1/3u ( < £ 2
213£60000 0 - 1360000 0 S3£€0000 0 H3£60000 0 B13£€0000 0 H3£60000 0 /3w h & hd
2131000 0 - 13/000 0 243/000 0 H1000 0 43/000 0 B31000 0 1/3u bl s v
2131000 0 - 131000 0 131000 0 B3 1000 0 131000 0 131000 0 1/3u ( oY v ) v
2134000 0 - 2134000 0 2 34000 0 3000 0 234000 0 31000 0 /3w £ v v
213600 0 - 13600 0 |l 3200 0 13600 0 B¥600 0 B3€00 0 BI600 0 1/3u ~ v
#3200 0 - 13200 0 |l&:3200 0 13200 0 3200 0 13200 0 #3200 0 /3w ~ v
2130000 0 - 130000 0 |l:3v0000 ‘0 24340000 0 30000 0 4340000 0 310000 0 /3w £ v
2136000 0 - 2136000 0 I=36000 0 136000 0 136000 0 436000 0 136000 0 1/3u ~ v
#1000 - 13100 0 |lex100 0 13100 0 1000 213100 0 1000 /3w ~ Y |00}
2132000 0 - 132000 0 I&32000 0 432000 0 132000 0 432000 0 37000 0 /3w ar E v |66
#1000 - 13100 0 |le2100 0 213100 0 1000 13100 0 1000 /3w d £ |86
236000 0 — 36000 0 |l£5000 0 36000 0 H136000 0 136000 0 36000 0 /3w ar £’ £ |6
213£6000 0 - 136000 0 |l#25000 0 136000 0 136000 0 136000 0 136000 0 /3w o £ |96
236000 0 — 36000 0 |l:£5000 0 136000 0 136000 0 136000 0 36000 0 /3w ar £ |56
2136000 0 - 2136000 0 |l=36000 0 2436000 0 136000 0 136000 0 136000 0 /3w ~ £ |e6
2136000 0 - 136000 0 |I=35000 0 436000 0 136000 0 136000 0 36000 0 /3w ar £ |26
213£€000 0 - 136000 0 |l=3000 0 436000 0 H136000 0 436000 0 36000 0 1/3u N4 c |16
2132000 0 - 132000 0 I&32000 0 432000 0 #2000 0 432000 0 37000 0 /3w ~ S £ |06
232000 0 — 32000 0 132000 0 32000 0 #2000 0 32000 0 37000 0 /3w 24 £ |68
23000 0 — 3000 0 |l:¢€000 0 3000 0 #3€000 0 %3000 0 3£€000 0 /3w i £ |88
#1000 — %1000 %1000 %1000 #1000 %1000 #1000 /3w d c |8
231000 0 — 31000 0 _— %1000 0 31000 0 31000 0 31000 0 31000 0 /3w d c |98

J%3£0000 0 — 13£/0000 0 [2£10000 0 3£/0000 0 B3£10000 0 S3£/0000 0 B3£10000 0 /3w ( ) c |s8
#3£90000 0 — 1390000 0 |l290000 0 1390000 0 390000 0 390000 0 #3£90000 0 /3w ( Al c |8
#3000 0 — 3000 0 |l¢000 0 %3000 0 €000 0 3000 0 €000 0 /3w ( g [ 4]
231000 0 I 31000 0 |l 1000 0 31000 0 31000 0 31000 0 31000 0 /3w ( ) c |18
#3£600000 0 — 3600000 0 |l¢500000 ‘0 3600000 0 #3£500000 0 13600000 0 #3£600000 0 /3w o [ (]
231000 0 — 31000 0 |l:v000 0 31000 0 31000 0 31000 0 31000 0 /3w ~ A |6L
232000 0 — 32000 0 |l2000 0 32000 0 #2000 0 32000 0 32000 0 /3w c v A 8L
#3£20000 0 — 320000 0 |l220000 0 320000 0 320000 0 320000 0 #3£20000 0 /3w ~ A L
232000 0 — 32000 0 |l2000 0 32000 0 #2000 0 32000 0 32000 0 /3w ( < A |9
#3$0000 0 — 310000 0 |l2:£%0000 0 310000 0 310000 0 310000 0 #3$0000 0 /3w ~ A |sL
23600000 0 I 3600000 0 |l22600000 0 13600000 0 3600000 0 13600000 0 #3600000 0 /3w 24 A |eL
23000 0 — 3000 0 |lt¢€000 0 %3000 0 €000 0 %3000 0 #3€000 0 /3w R i 173
239000 0 — 39000 0 |l9000 0 39000 0 %3£9000 0 %139000 0 39000 0 /3w ~ < e (VA
%100 0 — %1000 |l 100 0 %1000 #1000 %1000 #1000 /3w o 5 169
#3£60000 0 — 360000 0 |I:2£50000 0 360000 0 #3£G0000 0 360000 0 #3£G50000 0 /3w ( ) 5 189
2390000 0 — 390000 0 |l290000 0 390000 0 390000 0 1390000 0 390000 0 /3w o R 11}
232000 0 I 32000 0 |l2000 0 32000 0 32000 0 32000 0 32000 0 /3w ( g o £ 199
232000 0 — 32000 0 l2000 0 32000 0 32000 0 32000 0 32000 0 /3w c o« v £ |99
#3000 I 300 0 |letxee00 0 %600 0 €00 0 %600 0 €00 0 /3w o bl L £ |79
238000 0 — 238000 0 |l£8000 0 133000 0 38000 0 %133000 0 38000 0 /3w c £ 19
232000 0 — 32000 0 |l2000 0 32000 0 #2000 0 32000 0 32000 0 /3w 7 < [ E 4]
23100 0 — 3100 0 23100 0 31000 23100 0 3100 0 23100 0 /3w 10 £ |19

(BE8cKm)

33




V EiEEGE
(1) FBRIK

CEX28TEE)
( /mL)

B & ] 1.5 0 0 1.3 12 34 2 0 2 0 0 0
Oscillatoria tenuis 0.6 1.3

Phormidium tenue 0.9

Anabaena _spp. 8 34 2

Microcystis spp. 4

Phormidium __spp. 2
E E B 152 92 16 76 0 6 18 18 20 10 48] 362
Asterionella spp. 36 2 2 12 6 10 340
Aulacoseria _spp. 4 20 14 2 2 4

Cocconeis spp. 2 2 6 4
Cyclotella spp. 28 2 2 2 4 2 2 6 2
Cymbella spp. 2 2
Fragilaria _spp. 56 50 8
Gomphonema  spp. 2
Melosira _spp. 2 6 14 58 2 6 6

Navicula spp. 20 10 2 2 2 2 2 4 4
Nitzschia _spp. 2 2 2 6
Pinnularia spp. 2
Rhoicosphenia spp. 2

Synedra _acus 2 8 12
% = £ 52 18 4 12 4 4 2 16 70 6 12 6
Ankistrodesmus spp. 38 2 2 2
Chlamydomonas  spp. 12

Closterium spp. 4

Dictyosphaerium spp. 2 2

FEudorina spp. 2

Micrasterias spp. 2 4 4
Mougeotia spp. 6 2 14 66 2 6 2
Oocystis spp. 2

Pediastrum spp. 2

Scenedesmus  spp. 2

Staurastrum spp. 6 2 8 2 2 4
Tetraspora spp. 2

VAR N % | 38 0 0 2 0 0 0 0 0 4 0 2
|Cryptomonas — spp. 38 2 4 2
' £ E = 8 0 0 0 0 0 0 0 0 0 2 2
|Vinobryon  spp. 8 2 2
B ¥ E B 0 0 0 0 0 0 0 0 0 2 0 0
|Gymnodinium — spp. 2

M E = 0 0 0 0 0 0 0 0 0 2 2 0
E3 7] R 251.5 110 20] 91.3 16 44 22 34 92 24 64 372

(2) FBILRRIK (CER28EFE)
( /mL)

g E B 0 1 0 0 0 1 0 0 0 0 0 0
Anabaena _ spp. 1

Oscillatoria spp. 1

E E B 1 2 0 3 0 0 0 0 0 0 0 4
Asterionella spp. 3
Aulacoseria spp. 1

Cymbella spp. 1

Navicula spp. 1 1

Stephanodiscus spp. 1
Synedra acus 1

Synedra _ulna 1

#x = 2] 6 1 0 0 0 0 0 0 0 1 0 0
Micrasterias spp. 1

Sphaerocystis spp. 6

Staurastrum __spp. 1

= 3 0 0 0 0 0 0 0 0 0

E3 L7 # 10 0 3 0 1 0 0 1 0
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